Vergleich   BC327-40      mit BC575B

Aufbau:

U0    2,5 V

Emitter an +

Collektor an    R-Last    gegen Masse

Basis über wählbaren Widerstand an  Masse

 U ce  (mV)        bei  R-Last = 50 Ohm
Basiswiderstand                             BC327



BC557

22 k



70



153

4,7k



8



36

2,2k



6



19

1k



5



14

---------------------------------------------------------------------------------------

 U ce  (mV)        bei  R-Last = 10 Ohm
Basiswiderstand                             BC327



BC557

22 k



207



230

4,7k



98



188

2,2k



37



140

1k



22



135
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